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2. How do Bohr models differ from Lewis diagrams?
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b) How many bonding pairs does it have? é How many non-bonding pairs does it have? _L

4. Complete the fellowing table.

Molecular | Lewis diagram | Number of bonding | Number of non-

formula o pairs bonding pairs
PF; A |

tF-P-he 5 10
H,S

H-5-H 2 2

5. Draw the Lewis structure for
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. Complete the following table.
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Indicate if each compound is ionic or covalent and write its name.
Compound lonic or covalent? Name
NaFy Covalent  [dindopopn  theablueide
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Indicate if each compound is ionic or covalent and write its formula.
Compound lonic or covalent? | Formula
iron 111 nitrate L0 AL (
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9. Balance the following equations,

a) \ N2+??H2—> Z-NHs

b) 2 N, + | 0, > 2 N,O

c) Vo 2 no—> ) znch+ ) W,
d) 2‘ AI(OH)3 + .3 H2504 —> \ Alz(SO4)3 + é Hzo

LAe™d
e) i C7HsO, + 1S 0, —> \ t €O+ _ ®» H,0

10. For each situation, write the word equation and find the balanced equation

a) Solid magnesium reacts with oxygen gas to form solid maﬁnesium oxide.
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Mg * 057 aMa 05

b) Iron reacts with oxygen to produce rust, Fe;0z. -
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c) Nitrogen gas reacts with bromine gas and forms nitrogen tribromide gas.
m"-\ﬂ%m ¥ broadae —>  nilrg eyt Yrivcor\de

Ny + 38, = ZN Bcq

d) The combustion of methane, CHy(g), needs oxygen. This reaction produces carbon dioxide gas

and water vapor. o ) ‘
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